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1. The permissible use of the technique of amniocentesis is for?
(A) Artifical Insemination
(B) Transfer of embryo into uterus of surrogate mother
(C) Detecting any genetic abnormality
(D) Detecting sex of the unborn foetus
(E) None of these

2. Which of the following is not used as bioweapon?
(A) Bacillus thuringiesisis toxin (B) Small pox
(C) Botulinum toxin (D) Bacillus anthracics
(E) None of these

3.  Which is the correct hierarchical order ?
(A) Division — order — family — class (B) Family — class — order — division
(C) Family — order — class — division (D)Order — class — family — division
(E) None of these

4. Rhizopus reproduces asexually through?
(A) Sporangiospores (B) Aplanospores
(C) Chlamydospores (D) Akinetes
(E) None of these



In the diagram below, some of the algae have been labelled a,b,c,d and e.

These algae are respectively identified as

e.
(A) Dictyota, Polysiphonia, Porphyra, Fucus and Laminaria
(B) Laminaria, Polysiphonia, Porphyra, Dictyota and Fucus
(C) Dictyota, Polysiphonia, Porphyra, Laminaria and Fucus
(D) Porphyra, Dictyota, Laminaria, Fucus and Polysiphonia
(E) Fucus, Porphyra, Dictyota, Polysiphonia and Laminaria

Examine the figure a, b, ¢ and d. In which one of the options all the items a, b, ¢ and d
are correct.

a. b. c.
a b c d
A |[Chara Marchantia | Fucus Pinus
B | Equisetum | Ginkgo Selaginella | Lycopodum
C | Sellaginella | Equisetum | Salvinia Ginkgo
D | Funaria Adiantum | Salvinia Riccia
E [None of these

Cross section of body of an invertebrate is given. Identify the animal from the body plan

(A) Cockroach (B) Planaria (C) Roundworm (D) Earthworm
(E) None of these

One example of animals having a single opening to the outside that serves both as mouth
as well as anus is ?

(A) Asterias (B) Ascidia (C) Fasciola (D) Octopus

(E) None of these



The metal X on heating in nitrogen gas gives Y. Y on treatment with H,O gives a colourless
gas which has been passed through CuSO, Solution gives a blue colour, Y is?

(A) Mg (NO,) (B) Mg, N, (C) NH, (D) Mgo

(E) None of these

10.

Which of the following compound (s) has least dipole moment ?

(A) 1,2 — Dichlorobenzene (B) 1, 3 — Dichlorobenzene

(C) 1, 4 — Dichlorobenzene (D) All have the same dipole moment
(E) None of these

11. The compound \/(i\ /‘i\ is named in IUPAC as?
0
(A) 3,4 —hexane di—one (B) 3, 6 — haxandione
(C) Propoxy propanone (D) Propanoic anbydrode
(E) None of these
12. In the reaction, @ Fecl, @ the attacking species is?
+CL, — —Cl,+HCI
(A) Cl, (B) CI* (©) CIr (D) FeCl,
(E) None of these
13. Two particles A and B moves with constant velocities V. and V, along two mutually
perpendcular straight lines towards the intersection point O. At the moment t=o, the
particles were to located at distances S, and S, from the point O. The line at which the
distance between the particles becomes the smallest is
VS, + V3,8, VS, S+8S, vV, +V,
2 2 2 2 2 2 2 2
(A) Vl +V2 (B) Vl +V2 (C) Vl +V2 (D) Vl +V2
(E) None of these
14. A bullet of mass m moving with a speed u strikes a wooden block of mass M and gets
embedded into the block. The final speed is?
\/T \/T m \Y%
\4 \4 v —
(A) YM+m B) YM+m (C) M+m (D) 2
(E) None of these
15. A sphere, a cube and a thin circular plate, all made of the same material and having

the same mass, are initially heated to a temprature of 3,000°c. Which of these will cool
fastest ?

(A) Sphere (B) Cube (C) Plate (D) Either cube or plate
(E) None of these
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